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7. SIMPLE PAST ACTIVE OR PASSIVE

Read the following passage about the Panama Canal. Put the verbs into the simple past active or passive. The first one has been done for you.
The Panama Canal is one of the most significant engineering achivements of the 20th century, but it was a project that took over 500 years to finally complete. The first proposal to build a canal (1) was put forward in 1523. Charles V of Spain (2)  _________ a survey of the area, but no action (3) _______________ (taken). More than three centuries (4) ___________ (pass) before a new attempt (5) _______________ (made). A French company, under the leadership of Ferdinand de Lesseps who (6) ____________ (build) the Suez Canal, (7) _________ (work) for 20 years. They (8) _____________ (begin) in 1880, but (9) ___________ (defeat) by disease and financial problems. 

               In 1906, President Roosevelt (10) _________ (order) the US Army Corps of Engineers to begin construction, and the project (11) _________ (control) by Colonel Goethals. During the project, about 143 million cubic metres of earth (12) _____________ (remove), and the entire area, which (13) __________ (infest) with malaria-carrying mosquitoes, had to be sanitized. It _________ (estimate) that the project would take ten years, but in fact the work (15) _________ (complete) in the summer of 1914 at a cost of about $ 336 million. The canal which links the Pacific and Atlantic Oceans, is just over 64 kilometres long. The minimum depth is 12.5m and the minimum width is 91.5m. 
DIMENSIONS

A. The Letters of the words below have been mixed up. Reorder them to make the names of four famous places and structure.
GTAER RAMPDLY    CHLENNA UTELNN   GOLDEN GATE BRIDGE     PANAMA CANAL 

B. The text below describe the four famous places or structures from A. 
Write in the name of the place or structure described. Then put the words in the box into the correct place in the text. You will need to use some of the words more than once.
1. ____________________________
Overall, it is 50.4 km long, and consists of three separate tunnels. The two main ones are 7.6m ____________, and the ___________ of the central service is 4.8m. The overall ________ of the undersea section is 39km. 
2. _________________________
It is suspended from two towers, each of which are 227.4m _____________ and the overall _______________ of the central span is 1280.2m 
3. ___________________________________
The original ________________ of the structure was 147m, but it is now slightly lower as some of the top stones have been removed. At the base, each of the four sides is 230m _______________________ . 
4. ________________________
It is little more than 64km ___________, and with a minimum ______________ of 12.5m, it is _____________ enough to allow large vessels. It has a minimum _________ of 91.5, allowing vessels to pass each other at any stage. 
